Ll LEEMIN

E2HRHRIE

ZU-A QU-A WU-A &5k dEss

ZU-A QU-A WU-A RETURN LINE FILTER SERIES

(—) &

T RRR R EE R ERRNEIMERRL, ALURRHE &
THERNESEM AU R ESFERNIGRARS, EREmES
FRBRITES, BRTRERERIEXER.

T EESWAR, KRIMMRA=F, HFRLRRRT
BRE, BES, WARIRER R SHEERELLRE,
LA HR IR

ZLRBREFEZERANEE, HECESLBEESEHLH
AEZEIX 035MPalit, EXBFRES, WLRIERSERIES.

AT RRRIRS R AW BA4ET RMEN, EEEREES.

WMEEN K. REEARKD . WESEBAEMRS, HITEEENE
SHIT RS ERRE, IREEB 3. 5. 100 20=200, I ZEN=99.5
%, FEIS0 KA,

INTRODUCTION

These series filters are return line ones. The filter element of QU-A, ZU-A,
WU-A series the three types which are glass fibre, paper, wire mesh & notched
wire while that of XU-A series is of wound brass wire. They have the same working
pressure but different filtration fineness. Differential pressure indicator will act
when the pressure drop across filter element attains 0.35MPa.

Q0 @O

© @

[

L -
T
ﬁmﬁr & FR Name 3t B Note
12£T Bolt
3L Filter head
JEAR Element S Wearing Parts
Oz EH B 0-ring S Wearing Parts

2R Nut

& Housing
O Z % B 0-ring
H2FE  Screw

S 154tk Wearing Parts

1
2
3
4
5 | #E Gasket
6
7
8
9

(Z)BY=75RH ORDERING INFORMATION

OO -O—A0OxOOOd

U4t 8RS Paper filter
QU:IEAF=IT RS Glass Fibre
WU:MZITJERE Wire mesh filter

| HF 5538 [’ With by-pass valve
W& . rssiE Eomit if without by-pass valve

E:E FHEH) & 7188 Electronic analog indicator
P CMSELZTLEE With CMS indicator
A%, THEIES Omit if without indicator

ABg. B\ Omitif threaded connection S, EREAXU-AZT

F:7k=3\ Flanged connection  EEEEY

B:#R= Plated connection 2. wo
EUGE FAwWU-A

JHEFEE  Filtration accuracy( p m) ZE e,

BH: 7" h7K—7Z ZEE Water-glycol

AFRHE Flow rate(L/min) LA T

HE&. N —RE & EH0mit if use hydraulic oil

o)
AFREEF] Pressure class A:L.6MPa XU-AZ 5|

i AAITEEERRE [ BTRINANRS | N, E5HASRARERER,



Ll LEEMIN

E2HRHRIE

(Z)BARSELTECHNICAL DATA  1ZU-A. QU-A. WU-AZFIid 888 1.ZU-A. QU-A. WU-A filter series

o B 2| AFAE | hE INFRIE ) waEin E IR R E >3] 2% =2, N S =
%ﬂod’j 1%31_1 ?lo(ljvlfgt% ﬁ_ﬁf}% Aﬂ}sis.j] Pressurjej I%ssg(eMPa) %B;Epnfs?sﬁili—ngj &_gé% V%é?t ’%ﬁfﬁﬁ M oéegge%; ont
(mm) (L/min) (um) (MPa) Tnitial Max (MPa) Indicator power| (Kg)

CU-A10 x * P 10 10 2.6 TZX10 X * #
[JU-A25 x % P 15 25 0.05 3.2 TZX25 X * #
CJU-A40 x % P 20 40 36 BFR | 2040 x * #
[JU-A63 x * P 25 63 007 4.8 Thread TZX63 X * #
[JU-A100 x * P 32 100 ) 58 TZX:-100 X * #
[JU-A160 x * P 40 160 3 M 6.7 TZX:-160 X * #
[JU-A250 x * FP 50 250 ) 9.5 TZX:-250 X * #
CIU-M00 <% FP | 65 400 5 A o | 035 04 AW T1aa ]y [ TDeA00 s
CIU-A630 X * FP 80 630 10 ’ ) ' 220v/50w | 223 F|a£e T2X-630 X * #
[JU-A800 X * FP 90 800 017 TZX-800 x * #
[JU-A1000 x x FP| 100 1000 20 ’ TZX-1000 x * #
[JU-A25 x % BP ” 25 0.05 3.2 TZX25 X * #
[CJU-A40 x * BP 40 30 ' 3.5 TZX0-40 X * #
[JU-A63 x * BP - 63 0.07 3.9 s TZX63 X * #
[JU-A100 x * BP 100 ) 6.2 TZX-100 X * #
[JU-A160 x * BP 38 160 01 7.0 s TZX:-160 X * #
[JU-A250 x * BP 50 250 ’ 10.0 TZX-250 X * #
[JU-A400 x * BP 65 400 0.15 15.4 TZX:-400 x * #

. CATIERE, #RRERHRl, BEANRAK—ZZE, FREILMPa, AFRREL/mn, JEHARKER, HAMEE, NITESENSH.
ZU * BH—A63 x xP, JEBISATIX, - BH-63 x *o JEM AL, TIRMEEAL0~15um, RIS, NEEERBESH: Qu-A3x*P, JEEES
A: TIX63*Qo JERATEL, ITIRREEA3~5um, WA, NITES[ESH. QU-AG x*P, JEHEISH. TIX63*Q, EHASEM, &
ZiTRE, MELIEI[EIS . WU-A3 x *P, JESEIS A, T2X, - BH-63 X *W,

Note: * is represents filtration, # is filter media If the filter fluid is water-glycol, usage pressure 1.6MPa,flower rate 63L/min,filter media is paper, the filter equipped with
indicator, the model of the fi-Ilter is ZU + BH — A63 x *P . that of the element is TZX, « BH — H63 x *,if filter media is fibre and filtration 10~15 p m,and the filter equipped
with indicator, the model of the filter is Q,u-A63 x *P,that of the element is TZX,-A63 x *Q,if filter media is fibre and filtration 3~5 p m,and the filter equipped with indicator, the
model of the filter is Q,u-A63 x *P, that of the element is TZX,-63 x *Q. if filter media is wire mesh, and the filter equipped with indicator, the model of the filter is WU * BH-

A63 x *P, that of the element is TZX, * BH-63 x *\W.

(F9) Z2EEHMEER~F  MOUNTING SIZE

1%&5: Threaded connection

2 R=F Size (mm)
K
Model H h L B D I M m ‘ 2.

- | AfE View —=M
QUALOx*p | 199 | 152 | 104 | 102 | 70 M18 % 1.5 o ; i @
w P1 i 1
z ] s =
QU-Ax*p | 239 182 30 | M22x15 | M6 1 ! \
w
. 120 110 $ 89 | AL
QU-AMOx*p | 299 242 M27 x 2 = ‘ ;
w
z - i
QU-AG3x#p | 322 | 254 | 146 M33 x 2 D - ° %
w

131 !
: 31| ¢109 | 55 | ol o
QU-AL00x *p | 422 358 150 M42x2 | M8 \ ‘
' —_—
; L
Q U-AL60 % #p | 449 380 170 148 | $134 | 65 M48 x 2
w




Ll LEEMIN

E2HRHRIE

25%=3. Flanged connection

y Jk ‘ 2 R~ Size (mm)
Model
H h L B b D m $ M
[]O P -2 .
| w—
PL f P2 _ )d z
| | Q U-A250 x *Fp | 561 485 182 166 115 | 150 | m10 74 M6
I '

z
QU-A400x *Fp | 706 | 625 | 196 | 176 | 140 | $163 | M12 94 M8
w

z
Q U-A630x *Fp | 846 | 750 224 212 | 160 | ¢ 186 | mi12 | 115 | MIO
w

_ 2U-A800 x *Fp | 1024 | 936 125
S i O Tt 260 | 250 | 180 | 212 | w2 M12
1 w FPl 1094 | 1001 135
3.4x= Plated connection
2-¢dl LK
ol | | 2ea % KiE) View
O A X o)
T ! o Y'Y o]
! |
[sa}
il
- E =
ju
L -
I
\
D) V. RERIRETEINE FAGB/T70.1-2000
i = R ~F SizE(mm)
Model H h L B b D I n E F c | pd | B2 | o3 | pd4
z
QU-A25X*BP | 202 | 182
w
- 132 | 104 | 17 | 9 116 | 58 30 10 20 10 28 20 1 7
QU-A40X*BP | 262 | 242
w
z
QU-AG3X*BP | 290 | 254
w
. 160 | 127 15 | 142 | 71 45 225 | 30 15 40 32 | 135 9
. 18
ﬁU'MéUX*BP 407 | 376 | 180 | 164 134 | 162 | 81 50 25 42 21 45 38 15 9
z
\SU-AZSOX*BP 522 | 486 | 210 | 202 150 | 188 | 94 66 33 48 24 60 50 18 11
z
$U-A400X*BP 669 625 | 254 | 214 25 163 | 228 | 114 90 45 60 30 75 65 18 13




LEEMIN

*23
<5 >

[ HEdE

AEREZIRR SR TIIRTINT

Please manufacture the connecting flange as follow

{732

45°

d /
®f - /
N E A
% 32
lc.]
4-d1
B
B =2 JRST Size(mm) EZR 0" B | SRR
Model A B C D D1 D2 D3 d E d1 “0” ring for flange | Screw for flange
z
0 +0.2
3 U-A250 x *FP 75 650 | ®006| ** 07| e60 | ¢74 $67 $60x3.1 M6 x 25
? 65 0 +02 | 476 94 9 75x31 M8 x 30
QU-A400 x *FP 85 ¢ ®75 hosl $707 07| ¢ ¢ ¢ $75x3. x
15|09 940
z 0 +0.2 0.1
S U-A630 X *FP 115 ¢ 80 690 007 ¢85 0 $91 ¢ 115 ¢ 11 $90x3.1 M10 x 30
2 U-AB00 x *FP 125 ¢90 [01003, [ $98F32| ¢104 | 9125 $ 100 3.1
b 0 02 ¢13 M12 x 35
w U-AL000 x *FP | 135 0100 | 1109, | ¢108%32| 114 | 135 $110x3.1




